7|5tatE 2t 1I-k12

Bl2e{e] g YOotE 7| 2

J|5ketEZ I 20074

1/22



TO[Et

H

51

o
-

=& Y3 (power series)

X
—

St

o
i}

ol
X
A

0{7|M & Zo|Ct.

x2| n-th power2} 1 2 EC}. 0| 0|EL

n
=

=2

ofL|CH ES x

2/22

20074

ol
o



S Z0 M B2 AS 0 ZL7t0{CIA S5tT LaksH=t0| T,
olel 712 B2 882l Taylorel S0l S22 22 ol Aol
Tayloro| Ma|E AFSH=TH0l| Wt 2422 2ok} SEutA o]
rabzicHs Zolc

(= 017|M e FItX| g=2f Taylor 21 119 32| 2=

computer A4S E5t0 = F Eed 10 Sict

20074 3/22

N
_?I_
B
Am
o



A 2tEk4= sinx2| Taylor M7HE x = 00 M 2 7H2| £ 2E2 2 7510
20

2 efshs 2eg Jei= Ak

~
ok
Lo
am
N

20078 4/22



Ct2 &2 sinx2| 2= 2} sinxE x = 00{| A &7l &t Taylor
RINAIOH A AbS=BHSE] 242t K| 1%}, 3R}, 4%, 7R}, OFF 2 19%}
2K 2 O] RO &l CratAl o T2 =ntX| 7702 Jef =& &l Aot

J|ststEZ 20074 5/22



6/22

\\nM
\\.\l\ !
~
1)
S
&

= B ST

//

L L 1 L =
-+ 1 o~ - ~0
1 i i
o
o
~




O|E EH

A=t 22 S T4 o] e Z= sinxl| =2
CHob7toi(+EotH) O 8ot Heles 8y H0idE 9 = UH

WIPMOl|M 7 At2 E5101 sinxo| SEBIHS RS &
AL} 2
A AN -

201 A O] AFMS U 2= 94X|2E 11 AFAIO| O Alo =
Melstexls 2 4 Ut

Z 20074 7/22



— -
2 RIS E=E

Ct2 0212 cosxQ| 2= 2} 0|9 E|&2] C}

O| 2t OFREZEX]
Jef=Z Tzl Zdo|ch
x =00 M 2| MIHAl0|0q, ZtZt M| ORF, 2K}, 4R, 6K}, 8A+ 2 20K} &
7K 2| CietAl S0|Ct.
g 2ot 11 0|2 oA EQI5I0] 2 X}
8/22

A EIH|
[ == R - )
20074




9/22

|
~
o
o
«

iior
i




N
Z2Jetr Inxe| A2 MIfA S WMo L QUCE

= o —

d2(1 o] gfE x = 10| 7N E w2 Hetd 2 10|ch of 2

0 <x<20|M= O] F=7F =HSHK[R O BA2| HHZZ M=

7|5t EZE NI 20074 10/22




11/22

20074




|
o|of| H|5t0d x = 50{| A Z7H St Taylor CtatAlo| TJefZ=E2 Chg J& T
Zrf

20074 12/22



ol

Ho

(0,10) o|Ct.

Tzte

Al

ol

o 3 oA o] 22F0] o

M2l Z2 2

e

017 A

12| AlLte 20 22 72+ (0,2)0M ?12| &= 7HX| Taylor M1 E

ol

oll

ofu
g

fo]
0fo

Uk
M

A2 =7 =T ot e 25

v

X
—

At Of FZHH[M ALE

ol

13/22

|
~
=}
o
«




2 F7to|A BHE Taylor

LA Cf

LY

ol

<k
__o_u
i

10
(x = 1)(x = 5)(x — 10)

f)

x=1,5108 AL UAZM AI2E

01

14 /22

|
~
=}
o
«




MZ x =30{|M2]
A

AX| 2 x HIHAIZ (1,5)01 M RESIH, x = 70(4{2)
HHAI (5,9)01M REE 2

st Zdo|ct.

ol

ChE 82 0| A S LIEHH HO[Eh F2 MOo| &= f(x)e| =01
S MO x = 30i[M 2 B2 R] Chet4], mfatMof x = 70| M 2f B2
Chet4fo|ct.

J|ststEZ 20074 15/22



12

10

g

16/22

|
~
=)
o
«

iior
i



o| JE=S EH™ TaylorMJH & 5t= 9|0|& & == UCH HZ2

MZUEFEUM 2E 22 FO1R oM FOo{ 7 Rk==2f THatA] 7124

Z0{Zl &0l 7+ Z S0{%t= CHEtAl0|2H 2|0| & JHX| 10 U

o| Ctatal2 MINE MM &= | 2A 57t Taylor Cratalol Xt4=

0HZ 2| 7| 5=(order)7tX| ChetAlo| O|E7|5=2+ UX|St= ZAO|Ct.

t2tA 1 7|5 (order)7HX| 2| O| 27| =10 =CHH Taylore
CiatAlo] I gt=2tZF0|Lt EC} = 0FX| o] CHatAlg B ot

M2t = ElCh= 2ro|Cf. 5 CHA| 25t O|RHE &7 M ZHet &= Qloh=

52o|ct.

J|ststEZ 20074 17/22




D|27ts8t 2 =0l Eisto{ Taylor H2|7t JEeCt.

HI
o

J2{L} 0| " Lio{X| & (remainder term) 7|10 QS i Ot
MEISCL(O2|10 0|/ 2 &t X2 2RH= 910] P=5HA ME BiCt)

Jg{Lt 2hed o|Z A 2= Taylor 71 +&5t=7t= EA[0|1, 0]
=77 835tz 20| |l g2l 2t YXish=7t= & =X 0|t

20074 18/22

S
_QI_
B
Am
o




M Taylorg 7} £ 7Bk} OF SHETHE SEUIZO| Aoz
e+ ok
J2iLt 0| H0| $BICIELE BHUOE SEBIK| Y BRI BC

rH‘I

=

O| A2 LM X[gto| HofLt

LIO{X| &to| O 2 Lttt =B H2tF0[ 00|11 &HSt= HO|
MNHUDE SIS gls O7 0|27ts6 g Wa K| o4t

20074 19/22




ol
1z
ool
als

E2 &= 0lF2 7HX| 2 ot

Taylor 2|0 M F2 LID{X[&S 7HA[1 U1, T2t o T ZHoH[ A
LID{X|&0| 02 2 2510 TaylorZ 57t 4222 86 F= 13

&t~Z 0|E35}0q 5l A1 &t4=(analytic function)2td &£

I
i}

J|ststEZ 20074 20/22




=
NI

Ol
W

—_
o

ok

£ Jt2A o
7h2e A

<k <F
oll

ol
1o 1o

L

H I

] oolch =&

F

21/22

|
~
=}
o
«




o
(]
10
I
1o
I
JI|LC
]
)
bas
I
]
mun
ro
<
Q
=3
(]
3
o]
=
Q0
M
=
0t
ol
)
=}
rn

ot s MAkdoM 2 J™AIA AlAstn T2 2 5 A0, 0|
= HHPH 2 gf=0l| Eistod CiA| 5 2 == ATt

J|ststEZ 20074 22/22




